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i) po=p

T35 c‘:,pzSﬁ%Oi\pgz"C“f)b,p:M ﬁ%bi‘\pgz‘f“%%.‘

(2) 025 13 FTOEERD & FICHBICMR . 7272 L D &I BDEIR 3,4,5
DTN ELL. TBE

A=[olo], B=|oo], C=|ojo], D =fule]

TH5.




II (1) r1,%9,xs3,4a, b,C e
1+ To+2x3 =a, 1%y + Tax3 + X321 = b, 12223 = ¢

BREREETHLEE

x:f + :L"g + xg =a’ — (13)'(14) ab + (15)!(16) c

Th3.
(2) iy =2®— 160 LD 3 M P, Q, R 32K 2=/ APQR DELDEE)
, @4(20),(21)}) ThH5.
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III (1) AABC o#IDEI% AB=5BC="7,CA=8 T3t AABC D

& [oafes] o [a] T8 1,

sinA4+sinB+sinC = ————
TH 5.

2) A,B,C 24hES U OWHESLETS. B L C OBEZEOENRE ZQZN 3,9
95 ZDEE ANBCC P2 ACBUC %61E A DWRERRARDERDMELIZ
[sofst[TH 3. |

D,E,F,G,H # U D#3%EA& LT 2. D,E,F,G,H DEEDFR=E ZNZN 25,9,
17,20,10 £§5%. $72: DCEUF »2ENGCH £§5%. ZDOLE, DNG DR
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it V-1 Z2e—27 L, 2 Z8RT 284, V-2 2v—2 LR Z .

1 nZ22boBARKET2. 1M EL UTOARELOLZEELT,1En %28
B, ED2BBZDEN1 LYRFOHOLEOMEE f(n) LT, 22 T2 ab
DELIF |a—b THDB. T2E

£(3) = oofuoa], F(4) =[aosfuos], £(10) = [aosfuos)|, f(15) =

TH5.
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g(?)) = (110), g(4) = (112)7 g(5) = (i14)(115)
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RDTAT T 5% a,b,c D100 LTDOESYIT7 XD (a,b,¢) ZTXTHITED
DTHS. EWED S e D 2 b o L HET b OB, ZOBELEILI N,

100 FOR A = 1 TO
110 LET X =

120 FOR B = TO 100
130 LET Y = X + |caon]caos)
140 LET C =

150 LET C =

160 IF C > 100 THEN GOTO 190

170 IF > C % C THEN GOTD 190
180 PRINT "(";A;","; B;","; C;")"
190 NEXT B

200 NEXT A

210 END
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